HiTE 7THRTH

S— B BIM & (1508)
AU F 2S5 —DES (49%)
(R K A OUT | IN |GROSS|HDCP| NET
1 B 2= 39 36 75 9 66
2 FU @3 39 40 79 12 67
3 WeE 8= 36 36 72 4 68
4 iE 1EA 39 37 76 8 68
5 KE ) 40 36 76 8 68
10 EE—RR 34 36 70 +2 72
15 =K BX 42 42 84 12 72
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1 K &8 45 41 86 20 66
2 i v =18 47 45 92 25 67
3 NAE  FE 47 44 91 23 68
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10 NE == 41 46 87 15 72
15 mweE ZA 48 46 94 21 73
20 pityas) x 53 47 100 26 74
25 B =8 51 46 97 22 75
30 W 1E 48 55 103 27 76
BG R xiE 45 41 86
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10 i RSB 40 38 78 8 70
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20 MAE—BA 46 46 92 21 71
25 R %3 45 45 90 18 72
30 B0 BiE 48 43 91 18 73
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